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14

Shape drawn on grid as shown:

m

Accept shape in any position or
orientation.

Accept slight inaccuracies in drawing
provided the intention s clear.

Accept alternative unambiguous
indications of the correct shape
provided the intention is clear.

Accept mathematically correct answers
involving fractions of a hexagon.
Shape need ot be shaded.
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Award TWO marks for the correct Upto
answer of 54 2m

f the answer is incorrect, award ONE @
mark for evidence of appropriate
method, eg:

n 72:4=18
18:2=9
(18x2)+@x2)

OR

n 72:4x3

Answer need ot be obtained for the
‘award of ONE mark.
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Award TWO marks for the correct answer of 18 Up to 2m

Ifthe answer s incorrect, award ONE mark for
‘evidenca of appropriate working, eg

50+2=25

Working must be carried through to reach an
answer for the award of ONE mark.

25-7 = wrong answer
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Shows a correct quadilateral, eg

or

Shows a quadrilateral with an area of 24cm” but

not a perimeter of 26cm, eg

or

m

Shading omitted
Accept provided the quadilateral drawn is
unambiguous

Lines not ruled or accurate

Accept slight inaccuracies in drawing
provided the pupil'sintention is clear
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Completes all three rows correctly, eg:

3em | 15em | 15em
Som | 9cm | Som
10cm | 8em | 8om

Completes two rows correctly.

m

Measures.
Ses guidance (page 7)

Side lengths in each row may be given
in any order

Accept correct values with cm omitted e,
for the rectangle:
15 3 15
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Award TWO marks for the correct answer of 54

f the answer is incorrect, award ONE mark for
evidence of appropriate working, eg

8x4=32
ax4=12
5x2=10

32+ 12+ 10 = wrong answer

Upto2m

Working must be carried through to reach
‘an answer for the award of ONE mark.
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68

Shows or implies a complete, correct method, eg:
« 5d=3x10+4

m

ofg 2

Incorrect methods, eg:
where the perimeter of the pentagon s
treated as being 4cm less than the perimeter
of the triangle:
©30-4=26

26:5-52
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or
157 seen (ha the perimeter of the ircle, without  1m
the straight edge added)

or

Shows or implies a complete, correct method, eg:

© 3B14x10)+ 10

Measures
See guidance (page 7)
Equivalent fractions or decimas, <
2sfy

Accept 25 or 26 (an answer that has been
rounded or truncated)

For 2m, use of x other than 3 or 3.14
(the given approximation, i
2571
25.7(.)
255
10457

H

5%

For 1m, use of 7 other than 3 or 3.14

(the given approximtior),
1571

15.7(.)

155

sz,
s

153
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‘Award TWO marks for the correct answer of 42

I the answer is incorrect award ONE mark for
evidence of appropriate working, eg:

m28:4=7

76 =wrong answer
oR
w28:2-14

14428 = wrong answer

Up to2m

Working must be carried through to reach an
‘answer for the award of ONE mark.
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15

6(cm) and 1.5(cm) seen the dimensions of the
rectangle)
oR
Shows or implies a complete correct method, eg:
* {35 =8 error)

8:4=2

2x@+2)
« 6x6=-35

6:4=12 (ermon)
641246412

g

X Contusion between area and perimeter,
« side of squarels 36 + 4 =9 (e
2x(0+225)
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Award TWO marks for the correct answer of 72 Up to 2m

Ifthe answeris

orrect, award ONE mark for Working must be carried through to reach an
evidence of appropriate working, eg ‘answer for the award of ONE mark.
» 13x4=52

5x4=20

52 420 = wrong answer
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Award TWO marks for two different
answers as shown:

5 |and| 2 |OR | 2 |and | 5

AND
35 |and| 35

If the answer is incorrect, award ONE
mark for any one of the above
answers.

Up to
2m

The two answers may be given in
either order.

Do not accept ‘5 and 2 AND ‘2 and
5 for two marks.




image2.png
5 %





image3.png
25

Award TWO marks for the correct
answer of 64

f the answer is incorrect, award ONE
‘mark for evidence of appropriate
working, eg

48:3=16
16 x 4 = wrong answer

Upto
2m

@)

Galculation must be performed for
the award of ONE mark.
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Award TWO marks for the correct Upto

answer of 12 2m

If the answer is incorrect, award ONE u1) Answer need not be obtained for the.
mark for evidence of appropriate award of ONE mark.

method, eg

Accept for ONE mark 1.2 OR 120 as

72:3x5 evidence of appropriate method.
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Award TWO marks for the correct Upto
answer of 26.8cm 2m

If the answer is incorrect, award ONE

mark for evidence of an appropriate
method, eg

= 85:2-157
OR

= 85~ (157 x 2) = wrong answer
wrong answer + 2

OR
= 85-(157x2)=536

Award ONE mark for an answer of
53.6 OR for 53.6 shown with no
evidence of an incorrect method.

Answer need not be obtained for the
‘award of ONE mark.
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Award TWO marks for the correct
answer of 50

If the answer is incorrect, award ONE
mark for evidence of appropriate
working, eg

15:3=5

5 x 10 = wrong answer

Upto
2m

@

Calculation must be performed for the
award of ONE mark.




